

$y_{n+2} = f(y_{n-1}, y_n, n)$ rekurrenz 2. ordnung

$y_{n+2} = a y_{n-1} + b y_n$ linear! i. s. konst. koef.

$y_{n+1} = a y_n$ $y_n = a^n y_0 = \underbrace{a \dots a}_n y_0$

$\lambda^{n+2} = a \lambda^{n-1} + b \lambda^n \Leftrightarrow \lambda^n (\lambda^2 - a \lambda - b) = 0$

$(a_0, a_1, a_2, \dots) \sim a_0 + a_1 x + a_2 x^2 + \dots = \sum_{i \geq 0} a_i x^i$

$a_n: [x^n] F(x) \quad F(x)$

5 5-14:00

$a_{m+2} = a_{m+1} + a_m$ $(a_0 = 0, a_1 = 1)$
 $(0, 1, 1, 2, 3, 5, 8, 13, \dots)$

$F(x) = x F(x) + x^2 F(x) + x$ $a_0 + (a_1 - a_0)x$

$\begin{pmatrix} a_0 \\ a_1 \\ a_2 \\ a_3 \\ \vdots \end{pmatrix} = \begin{pmatrix} 0 \\ a_0 \\ a_1 \\ a_2 \\ \vdots \end{pmatrix} + \begin{pmatrix} 0 \\ 0 \\ a_0 \\ a_1 \\ \vdots \end{pmatrix} + \begin{pmatrix} a_0 \\ a_1 - a_0 \\ 0 \\ 0 \\ \vdots \end{pmatrix}$

$(-x^2 - x + 1)F(x) = x \Rightarrow F(x) = \frac{x}{1-x-x^2}$

$F(x) = \frac{A}{x-x_1} + \frac{B}{x-x_2}$ $x_{1,2} = \frac{1 \pm \sqrt{5}}{2}$

5 5-14:12

$\frac{1}{1-x} = 1 + x + x^2 + \dots$

$\frac{1}{1-2x} = 1 + 2x + 4x^2 + \dots$

$\frac{1}{x-x_1} = \frac{-1/x_1}{1-x/x_1} \rightarrow x^2 - ax - b = 0$
 $\rightarrow 1 - a \frac{1}{x} - b \frac{1}{x^2}$

$\lambda_1 = \frac{1+\sqrt{5}}{2}$
 $\lambda_2 = \frac{1-\sqrt{5}}{2}$

5 5-14:19

$\frac{1}{(1-x)^k} = \binom{k-1}{k-1} + \binom{k-1}{k-2}x + \dots + \binom{k-1}{0}x^{k-1}$

$\frac{1}{1-x} = 1 + x + x^2 + \dots = \sum_{n \geq 0} x^n$

$\frac{1}{(1-x)^2} = \binom{1}{1} + \binom{2}{2}x + \binom{3}{3}x^2 + \dots = \sum_{n \geq 0} (n+1)x^n$

$\frac{1}{(1-x)^3} = \binom{2}{2} + \binom{3}{2}x + \binom{4}{2}x^2 + \dots = \sum_{n \geq 0} \binom{n+2}{2}x^n$

\dots

$\frac{A}{(x-\alpha)^k} = \frac{(-1)^k A / \alpha^k}{(1-x/\alpha)^k}$

5 5-14:28

$(1, 1, 1, \dots) \left\{ \begin{array}{l} \frac{1+x+x^2+\dots}{1-x} = \frac{1}{1-x} \\ 1 + \frac{x}{2!} + \frac{x^2}{3!} + \dots = e^x \end{array} \right.$

$(e^x)' = e^x$

$\frac{1}{1-x} = 1 + x + x^2 + \dots$

$\frac{1}{1-x} \cdot F(x) = c_0 + c_1 x + c_2 x^2 + \dots$
 $c_i = \sum_{j=0}^i a_j$

5 5-14:40

$\sum_{n \geq 0} a_n x^n = \sum_{n \geq 0} 5 a_{n-1} x^n - \sum_{n \geq 0} 6 a_{n-2} x^n + x$

$A(x) = 5x A(x) - 6x^2 A(x) + x$

$\frac{x}{(1-5x+6x^2)} = A(x) = \frac{a}{1-3x} + \frac{b}{1-2x}$

$x = a(1-2x) + b(1-3x)$
 $0 = a + b$ $a = -b = 1$
 $1 = -2a - 3b$

$a_n = 3^n - 2^n$

5 5-14:58

$$x \cdot \frac{1}{1-x} \cdot C(x) = \sum_{n \geq 0} \left(\sum_{k=0}^n c_k \right) x^{n+1}$$

$$\vec{C}(x) = \frac{2x}{(1-x)^3} + 2 \frac{1}{1-x} \cdot C(x)$$

$$\left((1-x)^2 C(x) \right)' = -2(1-x) C(x) + (1-x)^2 C'(x)$$

$$(1-x)^2 C'(x) = \frac{2x}{1-x} + 2(1-x) \cdot C(x)$$

$$\frac{1}{1-x} \ln \frac{1}{1-x} \sim \text{s.f.p. } H_n$$

5 5-15:16



5 5-15:27